
l;= g=+ ;]jf tyf s/sf ljj/)f :jLs[t b//]^ ?

1 gful/stf l;kmfl/;

s_ a+zh 50.0

v_ c+lus[t 1000.0

2 gftf k|dfl)ft 150.0

3 rf/ lsNnf k|dfl)ft -s_1 lsQfsf] 300.0

 -v_k|lt lsQf yksf] 60.0

4 ;fdfGo l;kmfl/; 200.0

5 hUuf gfd;f/L l;kmfl/;

5 /f]kgL ;Dd 350.0

10 /f]kgL ;Dd 400.0

10 /f]kgL eGbf dfly 500.0

6 ljw't h*fg l;kmfl/;

s_;fdfGo sRrL#/ 200.0

v_Ps tn] kSsL #/ 600.0

u_Ps tnf b]lv 3 tnf;Dd 800.0

u_3 tnf eGbf dfly 1000.0

7 wf/f h*fg l;kmfl/;

s_sRrL #/ 200.0

v_kSsL #/ 600.0

8 gS;f kf; gfd;f/L

s_ Pstn] kSsL #/ 800.0

v_ Ps tnf eGbf dfyL k|lt tnf 300.0

u_ k|lt ju{ km'^ 1.0

9 #/gS;fkf; ;+zf]wg k|lt ju{ km'^ 1.0

10 gS;f kf; k|df)fkq k|ltlnkL 1000.0

11 #/ gS;f kf; ;h{ldg 1150.0

12 JolQmut #^gf l;kmf/L; 300.0

13 k]G;g k^\^f l;kmfl/;

s_ g]kfnL 300.0

 cf=j= 072.73 sf nflu uf]/vf gu/kflnsfsf] gu/kl/ifbsf] 

lg)f{ocg';f/ s/sf b:t'/x? b]xfo jdf]lhd x'g]u/L :jLs[t ul/Psf] % 

.



v_ ljb]zL 1000.0

14 #/jf^f] k|dfl)ft

s_50,000. ;Dd 600.0

v_100000. ;Dd 800.0

u_k|lt nfv yk 200.0

15 c+zj)*f l;kmfl/;

s_5 /f]kgL ;Dd 500.0

v_;f] eGbf dfly 20 /f]kgL ;Dd

u_20 /f]kgL eGbf dfyL

#_ 5 /f]kgL eGbf dfly k|lt /f]kgL yk 50.0

16 Joj;fo gfd;f/L 700.0

17 pwf]u gfd;f/L“&fFp;f/L 1000.0

18 #/ sfod l;kmfl/; 

-s_ Ps tn] 800.0

 -v_ b'O{ tnf eGbf dfyL 1200.0

19 s'sf& tyf bfp/fsf] s^fg l;kfl/; 1000.0

20 #/gS;fkf; ;DkGg k|df)fkq

s_ Pstnf ;Ddsf] 500.0

v_ ;f] eGbf dfly 1000.0

21 cfo;|f]t k|dfl)ft k|lt nfv 50.0


